

Rational Exponents: Rewrite each with a rational exponent

① $\sqrt[3]{y^6}$
 $y^{\frac{6}{3}} = y^2$

② $\sqrt{x^3}$
 $x^{\frac{3}{2}}$

③ $\sqrt[4]{a^2}$
 $a^{\frac{2}{4}} = a^{\frac{1}{2}}$

④ $\sqrt[3]{x^3}$
 $x^{\frac{3}{3}} = x$

⑤ $\left(\sqrt[3]{x^2} \cdot \sqrt{x^3}\right)$
 $x^{\frac{2}{3}} \cdot x^{\frac{3}{2}}$
 $x^{\frac{13}{6}}$

⑥ $\sqrt[4]{x} \cdot \sqrt[3]{x^2}$
 $x^{\frac{1}{4}} \cdot x^{\frac{2}{3}}$
 $x^{\frac{11}{12}}$

⑦ $\frac{\sqrt[3]{5^2}}{\sqrt[4]{5^5}} = \frac{5^{\frac{2}{3}}}{5^{\frac{5}{4}}} = 5^{-\frac{7}{12}}$
 $\frac{1}{5^{\frac{7}{12}}}$

⑧ $\left(\frac{\sqrt{x^3} \cdot \sqrt[4]{x^2}}{x^{\frac{3}{2}} \cdot x^{\frac{3}{4}}}\right)^3$
 $\left(x^2\right)^3$
 x^6

⑨ $\left(\frac{\sqrt{y^3}}{\sqrt{y}}\right)^4 = \left(\frac{y^{\frac{3}{2}}}{y^{\frac{1}{2}}}\right)^4 = (y^1)^4$
 y^4

Simplify Each Expression

⑩ $12^{\frac{1}{8}} \cdot 12^{\frac{5}{6}}$
 $12^{\frac{23}{24}}$

⑪ $(-4a^2)(2a^{-3})^{-4}$
 $-4a^2 \cdot 2^{-4} a^{12}$
 $\frac{-4a^{14}}{2^4}$
 $\frac{-4a^{14}}{16}$

⑫ $(-8a^5b^7)^0$
 $-8^0 a^{5 \cdot 0} b^{7 \cdot 0}$
 $1 \cdot 1 \cdot 1$
 1

$\frac{-a^{14}}{4}$
 (BACK)

$$(13) \left(\frac{4x^{-3}y^4}{5z^{-5}} \right)^3$$

$$\Rightarrow \left(\frac{4y^4z^5}{5x^3} \right)^3$$

$$\Rightarrow \frac{4^3 y^{12} z^{15}}{5^3 x^9}$$

$$\Rightarrow \frac{64 y^{12} z^{15}}{125 x^9}$$

$$(14) \sqrt[3]{24x^5y^6z^{10}} = (24x^5y^6z^{10})^{\frac{1}{3}}$$

$$24^{\frac{1}{3}} x^{\frac{5}{3}} y^2 z^{\frac{10}{3}}$$

$$(15) \frac{n^5}{(-2n^4)^3}$$

$$\frac{n^5}{-8n^{12}} = \frac{1}{-8} n^{-7}$$

$$= \frac{1}{-8n^7}$$

$$(16) (3x^{-2}y^4)^{-2}$$

$$\frac{3^{-2}x^4y^{-8}}{x^4y^8}$$

$$\frac{x^4}{9y^8}$$

$$(17) (ba^{-5})^2$$

$$b^2a^{-10}$$

$$\frac{b^2}{a^{10}}$$

$$(18) \left(\sqrt[3]{p^5} \right)^4$$

$$\left(p^{\frac{5}{3}} \right)^4$$

$$p^{\frac{20}{3}}$$

$$(19) \left(\sqrt[4]{x^7} \right)^5$$

$$\left(x^{\frac{7}{4}} \right)^5$$

$$x^{\frac{35}{4}}$$

$$(20) \left(\frac{2x^{-3}y^2 \cdot x^{-2}y^2}{xy^{-3}} \right)^3$$

$$\Rightarrow \frac{2^3 x^{-9} y^6 \cdot x^{-6} y^6}{x^3 y^{-9}}$$

$$\Rightarrow \frac{2^3 x^{-15} y^{12}}{x^3 y^{-9}}$$

$$\Rightarrow 2^3 x^{-18} y^{21}$$

$$\Rightarrow \frac{8 y^{21}}{x^{18}}$$